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Related multiplication calculations

Good morning, Year 3.

In today’s Maths lesson, we are going to be continuing with
Multiplication and Division and looking at related multiplication
calculations.

Please watch the video of Miss Robertson talking you through
today’s lesson (link on the website). You might also like to watch the
White Rose Maths video (pause it at 5.20 as it starts to talk about division)

If you have any questions or would like to send in any work, please
email it to:
yearthree@st-jo-st.dudley.sch.uk

Well done everyone, you are all superstars © 1 »“
Love M, ,
Miss Roberfson xxxx =




Starter activities:

Today’s Tough Ten
e 10l 257 290 a2
+ 4 98 + 68 +276 + 61T

=45+9

=81 —40

54 +27 =

27 =9 = Deepen it:

, Pick one question and write a number
7/8= story for it.

83-24= Miss Robertson’s example:

8x 10 = Patrick has 22 sweets. He shares them

with Feliks. How many sweets do they

each get?

W 00 N o0 A W

45 - 5=

o

Remember, finding 2/4 of something is the same as finding "2 of
something.



Times table practise:

AND LEARN YOUR

TIMES
TABLES

Remember, you can
also logon to TIRS to
practise too :D

When there is a missing number in the
centre of the wheel, think about what you

multiply 3 by fo get the number on the
outside e.g. 3 x =24




Today, we are going to use the multiplication facts
that we know to help us with some trickier ones.

2x4o0nes=| & |ones

3

2 x4tens=| 8 |tens

2x40= |80

40 is ten times bigger than 4.
So to work out 2 x 40, we can do 2 x 4 and then multiply our
answer by 10 ©




Today, we are going to use the multiplication facts
that we know to help us with some trickier ones.

4 x40 =160

40 is ten times bigger than 4.
So to work out 4 x 40, we can do 4 x 4 and then multiply our
answer by 10 ©




Today, we are going to use the multiplication facts
that we know to help us with some trickier ones.

3x50=150

50 is ten times bigger than 5.
So to work out 3 x 50, we can do 3 x 5 and then multiply our
answer by 10 ©




3x3=9

3x30=

30 is 10 times bigger than 3. So, to work it out
we can do 3 x 3 and then multiply the
answer by 10.

Mmultiply a

Hundreds |Tens Ones
9
<=
Hundreds |Tens Ones




4x3=12

4x30=

30 is 10 times bigger than 3. So, to work it out
we can do 4 x 3 and then multiply the
answer by 10.

Mmultiply a

Hundreds |Tens Ones
1 2
<=
Hundreds |Tens Ones

1 2 0
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. 3X3=_
sO 3x30=

./ X3=
so/ x30=

. 9x3=
sO 9 x30 =

10x3=
sOo 10x 30 =

. 4x3=
sO 4 x30 =

6X3=
SO 6 x 30 =

Complete the number sentences.

a) 2x4-= c)
2 x40 =

b) 5x3= d)
5x30=

5x2=

5x 20 =

2x8=

80 x 2 =




w
L.
W
—
[

Complete the calculation for each set of place value cou

000
000
000
000

000 .

000

000 -

000

x 0000 *

000 .

h)

- - -



Deepen it:

There are

boxes altogether.

Each box contains ten tennis balls.

There are

columns of

There are

balls altogether.

N\

| know that when
multiplying 3 by 40,
40 is ten times bigger
than 4, so my answer
09 will be ten times bigger
L
than 3 X 4 )

Is Mo correct?
Explain your answer.



Answers are coming up on the next slide.
No peeking until you have completed the
questions ©



6.

. 3x3=9

so 3x30=90
./ x3=21

so/x30=210
. 9x3=27

sOo 9 x30=2/0

10x3=30

so 10 x 30 = 300
. 4x3=12

sOo4x30=120

6x3=18

sO 6 x30=180

Use base 10 to represent the multiplications.

Complete the number sentences.

0)2)(4:

8

2 x40 =

b)5x3=

5x30=

C)SXZ:

5x20=| |00

d)2X8=

80 x 2=




Complete the calculation for each set of place value counters

S 8 S
can RN TS
3x8%40wo
x.dxrxSx.U
Nns5nSP2STS
533358358
ANy
ZU.BHSMUx
"R x®aeSeS
TETTToBE 000
OO0
000 Q00
OO0 OO0
000 elele)

000 = 0000 000
000 | 0000 | 000 .
000 | 0000 ' 000
| 000 | 0000 | 000
. 000 s 0000 - 60O

h)

cce x 0000 ® GGO »
— — - -~




There are boxes altogether.
Each box contains ten tennis balls.

There are columns of

There are balls altogether.

There are 6 columns of 4 boxes.
6x4=24

There are 24 boxes altogether.
Each box contains ten tennis balls.
There are 6 columns of 40 balls.
6x40=240

There are 240 balls altogether.

| know that when \

multiplying 3 by 40,
40 is ten times bigger
than 4, so my answer
09 will be ten times bigger

\

than 3 X 4 )

Is Mo correct?
Explain your answer.

Mo is correct. |
know 3 X 4 =12,
so if he has 3 X
40 then his
answer will be ten
times bigger
because 4 has
become ten times
bigger.



Thank you for working so hard.

Please send in any photos of your work or any questions
you have to yearthree@st-jo-st.dudley.sch.uk

It is always a pleasure to see all of your work.




